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OGP et ZIMHl A2 156,000
= 44,000
o 112,000
HSH FENGS AIE HEAMS (HEALY) 80,000 0 80,000
[ 61,600
Ea 18,400
402 BIZtAH=01A 80,000 0 80,000
= 61,600
= 18,400
02 QI X2 AL EE(0IHTHE) 80,000 0 80,000
Od=# S35 AIEHA 80,000
= 61,600
Ea 18,400
NS EUZSEEAY 1,225,000 466,000 759,000
= 816,000
= 143,150
[Ea 265,850
402 2IZtA=01d 1,225,000 466,000 759,000
= 816,000
== 143,150
= 265,850
02 QI X2 AL EE(0IHTHE) 1,225,000 466,000 759,000
OLZEAFSE LAY 1,225,000
= 816,000
[ 143,150
T 265,850
ZEd B ASKE 10,350 0 10,350
307 elzto| & 10,350 10,350
02 2B YAIHE & 10,350 10,350
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SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 3,006,000
=S 386,700
IZ=MENE (YY) 960,000 4,500,000 A3,540,000
= 672,000
< 86,000
= 202,000
403 X SHHMSAH=01H 960,000 4,500,000 A3,540,000
= 672,000
== 86,000
o 202,000
02 S 2SS0t et =& 2 € AL | 960,000 4,500,000 A3,540,000
OdlEH J|ZME0E ZdAMY & X9Y
SR 480,000
s 336,000
== 43,000
o 101,000
OYXH J|=da0E 2dMY & X9d
SR 480,000
= 336,000
== 43,000
[Ea 101,000
ADIXIF HAXA HE(s0HE) 460,000 569,100 109,100
= 325,000
== 40,500
o 94,500
403 AXIEHHSAH=201H 460,000 569,100 109,100
= 325,000
= 40,500
o 94,500
02 SVI2S0 U H=E 2 EAIEI 460,000 569,100 A109,100
O&DIXI FHAXS dEHA A 460,000
[ 325,000
= 40,500
Ea 94,500
IIRXF FHAXA HE(s0HE) 405,000 562,600 /157,600
[ 283,000
= 36,600
Ea 85,400
403 MR HHMSAHE01H 405,000 562,600 157,600
[ 283,000
= 36,600
= 85,400
02 SO 2SOt =& 2 EF A I 405,000 562,600 157,600
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OJt=Al7 HUX S dEH2A WA 405,000
= 283,000
== 36,600
[Ea 85,400
A0 JIZMENE DMLY ASAHE ) 576,000 824,000 248,000
= 403,000
== 52,000
[Ea 121,000
403 AXIEHHSAH=201H 576,000 824,000 248,000
= 403,000
S 52,000
o 121,000
02 SVI2S0 U H=E P EAIEI 576,000 824,000 248,000
Od=d JIZdENE ZdAY agdst 576,000
[ 403,000
= 52,000
Ea 121,000
ZHEH J|ZMEHE LMY AZASHE ) 576,000 824,000 A\248,000
[ 403,000
= 52,000
Ea 121,000
403 MR HHMSAHE01H 576,000 824,000 A\248,000
[ 403,000
= 52,000
= 121,000
02 SO 2SO et =& 2 EF A I 576,000 824,000 A\248,000
O&=d JIZdENE ZdAe fEgdst 576,000
= 403,000
< 52,000
= 121,000
SAX 7 FHAXNA HE(S0E) 529,000 502,000 27,000
= 368,000
< 48,300
= 112,700
403 XM SAH=01H 529,000 502,000 27,000
s 368,000
== 48,300
o 112,700
02 S 2S0ItH et =& 2 €A ] 529,000 502,000 27,000
OsXIXT HAKSE HE(SHE) 529,000
= 368,000
= 48,300
o 112,700
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Ofl &F2H

MEE
Ofl &k2h
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518,000
370,000

44,400
103,600
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r
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518,000
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T

|
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518,000
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44,400
103,600

489,900
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336,000

43,000
101,000

480,000
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476,000
336,000
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4,000
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119,000
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189,000
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|[EHHIS 20l A

[

Ao

396,000
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382,000
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178,000

_487_




AN SEEH
M =9l & B =X
CHel: SEIHE At (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 47,100
s 109,900
403 AXIEHHSAH=0I 382,000 204,000 178,000
= 225,000
== 47,100
[Ea 109,900
02 SI12S0ItH etk =& 2 Ef A I 382,000 204,000 178,000
OF &7 HAXY NE=(=s0E) 362,000
= 225,000
=S 47,100
s 109,900
AEH JZMENE LMY AZAHFE ) 749,000 751,000 £2,000
= 525,000
=S 67,000
s 157,000
403 AXIEHHSAH=201H 749,000 751,000 /2,000
[ 525,000
= 67,000
Ea 157,000
02 SI|12ASOITH St =2 A P E A I 749,000 751,000 ~2,000
OblEH JIZYENE TP 23K
o) 749,000
[ 525,000
= 67,000
Ea 157,000
KA JIZ=MENE LAY A2FUFH(E ) 749,000 751,000 A2,000
[ 525,000
= 67,000
[Ea 157,000
403 MR HHMSAHE01H 749,000 751,000 /2,000
[ 525,000
= 67,000
= 157,000
02 SISt 2 S A AEHI 749,000 751,000 /2,000
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= 525,000
< 67,000
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AT FHAX A HE(SUHE) 204,000 0 204,000
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< 16,200
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401 Al HIZL 2018 204,000 0 204,000
= 150,000
== 16,200
[Ea 37,800
01 Al&HI 202,000 0 202,000
O HUX S HEHA HEAS 202,000
= 150,000
=S 16,200
s 35,800
03 A& S CHYI 2,000 0 2,000
O HUX S HEHA HEAS 2,000
LHEXI 7 HAXI A HE(SAHE) 200,000 0 200,000
= 153,000
[ 14,100
Ea 32,900
401 Al HIZL S 0HYI 200,000 0 200,000
s 153,000
s 14,100
s 32,900
01 AlZ8| 198,000 0 198,000
OUEXIT HAXISE HE(SHE) 198,000
[ 163,000
= 14,100
o 30,900
03 A& S CHYI 2,000 0 2,000
OUEXIT HAXSE HE(SHE) 2,000
aN2 3U0E &Y 3,646,000 1,797,400 1,848,600
= 1,405,500
= 2,240,500
HAsHAHE SHAE A 544,000 643,400 299,400
201 Ler23| 21,000 24,000 23,000
01 At2teltl 11,000 11,000 0
OHsHE g SAHI 2,000
OAsHE NZHH 2 5,000
OMMe J1=5 dessd 29 4,000
02 S5=24g4l 10,000 13,000 /3,000
OA=s7E N2 29 3,000
OMME JI5dessd 28 7,000
202 048l 6,800 2,800 4,000
01 2L AL 6,800 2,800 4,000
OA=s7E 2da & dF 6,800
301 22N = 82,000 82,000 0
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14 IIEt2 8= 82,000 82,000 0
O7isel FaEAXHZ
1,000,000 809+ 80,000
OAsHE UsEdd
500,000 x4t 2,000
307 212+01& 100,000 100,000
03 IIHHEHE 2| 100,000 100,000
O(AhHgaz HsHENYLYH 28 X 100,000
401 AIEHIKL =20 15,000 65,000 250,000
01 Al&H| 15,000 65,000 50,000
ONMMNE II5ddesd el 15,000
402 2IZtA=01d 300,000 360,000 60,000
01 QI XHZ AL E (KM THE) 300,000 360,000 260,000
OASAIY & da|gAIE K13
10,000,000 * 157+ 150,000
OFeimgl NE Q
5,000,000& *309+* 150,000
802 Btz DI Et 19,200 9,600 9,600
03 JIEtEtE =SS 19,200 9,600 9,600
OMME IIsassd == 19,200
CASERIXIE (ZAIL K& AS) 40,000 0 40,000
=S 12,000
s 28,000
307 21201 & 40,000 0 40,000
== 12,000
[Ea 28,000
02 LB HANHEE 40,000 0 40,000
OH=Z0A A0HED] 40,000
& 12,000
= 28,000
SENY S (AsHESES FAAIL) (A 187,000 154,000 33,000
EALY)
= 93,500
o 93,500
307 @120l & 187,000 154,000 33,000
== 93,500
o 93,500
02 QIHHAANGE R 187,000 154,000 33,000
OA=s7E 43t X2 187,000
< 93,500
s 93,500
SENE SEAUASX(SAINFAIE Z4) (A 2,875,000 1,000,000 1,875,000
= 1,300,000
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